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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

76-

78-

79-

80-

81-

83-

84-

85-

86-

Believing that I was too young for such a long journey, they told me very seriously

--------- at home.

1) must stay 2) that I had to stay

3) should have stayed 4) could have stayed

The psychologist explained that --------- he was always careful to listen to each patient
carefully, the body language told him most.

1) as 2) since 3) while 4) however

The ---—— house at the end of the street is one they have been living in for over thirty
years.

1) old big stone green 2) green old stone big

3) stone green big old 4) big old green stone

I put the boy ----——-- by a dog in my car and took him to hospital.

1) injured 2) to injure 3) that injured 4) was injured

Though most people might not be -——--——- to accept the fact, the world today is
unfortunately controlled by the power of money.

1) possible 2) willing 3) suitable 4) economical

This new laboratory technique of —--—-—-— growing cells copies what actually happens in
nature.

1) naturally 2) mentally 3) artificially 4) interchangeably
Happily sitting on the ground in a semicircle for their first lesson, their faces —---—-

interest, hope and intelligence.

1) radiated 2) occurred 3) compared 4) forecasted

John wanted to become a painter, but his parents’ -----—- were something else; they
wanted him to be an engineer.

1) expressions 2) expectations 3) permissions 4) destinations

In a/an ---—-—- to be able to reduce his hopelessness, Mary decide to find a new job with
more flexible working hours.

1) basis 2) function 3) excitement 4) endeavor

One should never --------- one’s dreams, since they simply tell you the truth about your
emotions.

1) ignore 2) follow 3) distract 4) express

If we accept that every wrongdoer is merely sick, it means that he cannot be held -—---—-
his actions.

1) superior to 2) available to 3) voluntary for 4) responsible for

For such a famous, rich man, his personal life was -—---—- simple and ordinary.

1) briefly 2) proudly 3) naturally 4) surprisingly
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Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

One way people learn is by watching the behavior of others. Sometimes (88) ---------

social learning, this type of learning (89) --------- the process of learning to copy—or not
copy—the action of another. By observing the results, or consequences, of another’s
behavior, people learn, over time, to either copy or avoid (90) --------- that behavior. In
general, people tend to imitate the behavior of another when they see
91) - to an appropriate consequence—hoping to repeat it for themselves.
Of course, the opposite is also true—people tend to avoid imitating the behavior of
another (92) --------- they see it result in an inappropriate consequence.

1) called 2) calling 3) it is called 4) that it is called

1) causes 2) transfers 3) enhances 4) involves

1) copy 2) copying 3) to copy 4) to be copied

1) leading 2) that leading 3) that it leads 4) it that leads

1) whereas 2) so that 3) when 4) then

Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

94-

PASSAGE 1:

All countries that send objects into space find themselves face to face with a serious
problem: space junk. The “junk” includes parts of rockets, unwanted remaining parts
from launches, dead satellites, and other manufactured items that simply stay there in
space with no use at all. There may well be half a million pieces of dangerous waste in
orbit. As you might expect, countries around the world are worried. Many are working
on solutions to destroy the detritus.

Japan’s space agency has built an electromagnetic tether. This giant steel and
aluminum net, nearly half a mile wide, would orbit in space and attract metallic pieces as
it travels. Once full of waste, the net would fall back into the Earth’s atmosphere. The
gathered pieces would burn upon re-entry. If this net idea works, Japan plans to build a
much larger one.

A Swiss company proposes a different answer. It is developing a spacecraft that
would act as a huge device to collect harmful debris. Like the Japanese net, the Swiss
device would fall back into Earth’s atmosphere, destroying its contents in the process.

What is the subject of the passage?

1) A new type of waste 2) Useless solutions to a difficulty
3) Difficulty for future space missions 4) Ways to send objects into space
Which of the following has been described in the passage?

1) launches (paragraph 1) 2) orbit (paragraph 1)

3) electromagnetic tether (paragraph 2)  4) re-entry (paragraph 2)
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95-

96-

98-

99-

100-

The device made by Japan’s space agency and that made by a Swiss company are similar
in all of the following features EXCEPT that they --—-—---—-- .

1) collect waste in space

2) look very much alike

3) serve the same purpose

4) are designed to make waste burn on their return to Earth

What does the word “one” in paragraph 2 refer to?

1) net 2) idea 3) piece 4) re-entry

PASSAGE 2:

You may think that people are capable of living in a wide range of environments, from
the hot deserts of Africa and the Middle East to the freezing cold of Siberia or Northern
Canada. Being an intelligent species, we worked out how to use fire to keep us warm in
cold conditions and, considerably later, air conditioning to keep us cool in hot climates.
But there is a wide variety of organisms capable of living in environments in which no
human could survive—the extremophiles.

Take, for example, Spinoloricus cinzia, a tiny creature, about a millimeter long and
looking a little like a jellyfish. This recently discovered animal is particularly interesting,
as it appears to be capable of living without oxygen and is thus a multi-cellular anaerobe.
The cells of most organisms contain mitochondria, which use oxygen to generate energy,
whereas the cells of Spinoloricus cinzia do not contain mitochondria. Most anaerobes so
far discovered are microbes and use a form of fermentation to gain energy. Some
anaerobes will actually die in the presence of oxygen.

What is the main purpose of the passage?

1) To introduce a special type of creature

2) To show the role of fire in human survival

3) To prove the unimportance of oxygen for life

4) To describe newly discovered unfriendly environments

Which of the following statements about anaerobic organisms is supported by the passage?
1) They are all discovered and known to us.

2) They can live in a wide range of environments.

3) They have cells all of which have no mitochondria.

4) They are capable of surviving in environments empty of oxygen.
What does the word “which” in paragraph 2 refer to?

1) organisms 2) cells of most organisms
3) mitochondria 4) multi-cellular anaerobe
Which of the following reasoning techniques is NOT used in the passage?
1) Describing cause-and-effect relationships

2) Describing the steps in a process

3) Referring to differences

4) Use of examples



